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B. Sc Il Year Examination, 2020
ZOOLOGY-IX Ecology, Microbiology, Animal Behaviour, Pollution &

Toxicology
Time : 2 hrs.] ] (B-322) [M.M. : 50
1. e i T & O 9aw aR- 1.  Culprit of Bhopal Gas accident:
(s MIC G PIC . (a) MIC (b) PIC
(c) CNC (d) MND (c) CNC (d) MND
2. for A gaffte SR werf & aue aﬁ— 2. The highest moisture content is in:
© (a) TRSSA ' (b) s : (a) Garbage (b) Rubbish
(c) 3 qATA AT (d) P FT__— (c) Hospital Waste (d) Agricultural Waste
3. 3w fafesor aer 3@l o ﬁﬂﬁRUT fraweR A @ar 3. High level radioactive waste can be managed in
8- which of the following ways? ,
(2) G Faror (b) FRET ~ (a) Open dumping  (b) Composting
(c) SARFRT (STET) ‘ ‘ (c) Incineration
4 (d) e HeRT A S *(d) Dumping in sealed containers
4. TOIRIgS WGNUT EAq: [T @Y Ifad et 8- 4. Fluoride pollution mainly affects:
- (a) fes (b) AR (a) Kidney (b) Brain
(0) & (d)sfa L— (c) Heart (d) Teeth
5. & o & wRee O sifte A A 3= el 5. Excess fluoride in drinking water is likely to
& cause: ' '
(a) I 5& Ravg™ : ' (a) Blue baby syndrome -
(_{b) TR * (b) Fluorosis ‘
(c) WIS AT 7 F S (c) Change in taste and odour
(d) 37a & sie (d) Intestinal irritation
6. 3R fem amed P Yyl @ 9darg- 6. Taj Mahal in Agra may be damaged by:
(_{arSO; () CI . (a) SO, () Cl
(c) H2 - (d)cCo (c) Hz (d) CO
7. WOL....&@I - 7. Smogis:
(a) T Wi el ~ (a) anatural phenomenon
o) TIPS AT BT BT 0T , . (b) a Combination of smoke and fog
(c) TEN ~ (c) colourless :
(d) IR T _ . (d) all of the above
8. 3 auiH....... 31T U ST & 8. The acids present in acid rain are:
(a) PAN, HNO3, MIC (a) PAN, HNO3, MIC.
L{pyH2CO3, HNO3, H2SO4 (b) H2CO3, HNO3, H,SO4
(c) (a) T (b) BT (c) Both (a) and (b)
(d) IR F X BIg T (d) None of the above
9. U & FAER WK FHIciiordel WWEl &I 3eda 9. Study of ecological effects of animal behaviour
......... e & . is called as:
L_(a)fm‘aﬁﬁfﬁ nRRuf! . (a) Behaviour Ecology
(b) Sl ‘ (b) Ethology
(c) FRfeT Tra@IEian (c) Comparative psychology
(d) ¥R arceifan (d) Socio-biology
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10. mqﬂ%mmamvram

- WL PeeEr &1
(o) IREY SRR L
. (b) BRRRET Iroteth
(c)waaﬁaéaﬁaﬁ

L/éd)mﬂﬁaﬁ it g
mﬁvﬁaﬂwm ...... dargl o
“(@02um ) 2pm.
(c) 0.8 um (d.05um .
“URTE BT & FUIL BT BN MHR el -
@ tum " (b) 100 jum .

k_(e)1000 um (d) 10pm

13, ¥ s et & 9ue -

. (a) SPM - ¢ _(byPAN.

‘ (c) SO2 (d) NO2

14. TG ¥ PM 10 &I 3AT A0T.......... 5

(@) 20 pug/m° (b) 40 ug/m® -

(c) 50 pg/m° L¢cy60 pg/m’
v ‘cm’gffPM 2.5 7T PM 10 ST 3RJAd |01 T R -

15.

(a) 20 ug/m a1 40 ug/m
¢ ()40 ug/m T 60 ug/m
(c) 20 pg/m T 50 ug/m
(d) 60 pglm a1 20 ug/m

16. X-ray Reea Frer i o1 S AT S 8-
(a) SO2 (b) CO2
BB ToP S (d) SO3 - ~
'47. EPA @l USAésaqgmﬁwosg@m@aﬁﬁ
- gftafe i &2
(@) Os (b) CO.
¥ (9 NO (_(0)€0;
' 48. U8 0B BENS 14 2-
| "(a) ERYEEH (b) TeEETTS

20 A

7 = %%ﬁ%; I""3‘”"""3-\rm‘i'ff"”§tudy of natural environment and evolution i

: " (b) Comparative psychology .
an
12.
13.

14.

15,

18.

20.”

" -(d) Ethology -
" The minimum size of the smoke particleis...

“(a) 20 ng/m®

. gas?
(a) SO, (mcm
(c) NO, (d) SO;

. According to EPA and USA the following is not

' (c) Stationary fuel combustion

- Ozone is found in mainly:

animal behaviour is called:
(a) Socio-biology

(c) Béhavioural Ecology

(@) 0.2um (b) 2 um

(c) 0.8 um ~ (d)0.5um

The maximum size of fly ash is...........

(a) 1.um (b) 100 um

(c) 1000 pm (d) 10 um

Which of the following is a secondary pollutant?- |
(@) SPM . (b) PAN

(c) SO (d) NO2

The permissible concentration of PM10 in the |

(b) 40 pg/m®
(c) 50 pg/m® (d) 60 pg/m®
The .permissible: concentration of PM 2.5 and. |-
PM 10in airare: ..

(a) 20 uglm and 40 ug/m

(b) 40 ug/m and 60 pg/m°

(c) 20 pg/m* and 50 ug/m

(d) 60 pg/m® and 20 pg/m®

X-ray films are a source of which of the followmg

one of the six major pollutants?

(a) Os - (b)CO

(c) NO (d) CO,

Which of the following is an organic gas?

(a) Hydrocarbons  (b) Aldehydes

(c) Ketones (d) Ammonia

The major contributor for Carbon Monoxide is: '
(a) Motor vehicle

(b) Industrial Processes

(d) None of the above '

(b) Stratosphére
(d) Mesosphere

(a) lonosphere
(c) Exosphere

.
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(d) weleT

mwﬁmmmmmwa‘r 22.

HET T 2-
(a) Instinct
(c) Morphant

(b) Réleaser

(d) Signal (____

ﬁuﬁaw%mm&%mwm@ﬁaﬁh 23.

fefdfy @u....... e S &1 o
(a) Taxis behaviour (b) Circadian rhythm 'L_/r

(o) Kinesis behaviour (d) Periodic Taxis

aﬁmmﬁmm%aﬂwaﬁaﬁmﬁm 24,

gl

(a) fecas aur salRe
(b) s g 3m=Res L
(c) = qen wTRr

E G G .. & &Y ITEROT & | 25.

(d) I3 St

SHER. ... mmmm#mmi 26.

wmﬁsﬁzmmﬁ%t '
(a) DERT fezer ub)fawsﬁﬁﬂaméﬁﬂv .
() SAToIed el (d) WRblsad R -

TR....... B R e s & 2%,

(c) BT

g_.

(a) SrEIamg
(c) S &
(d) svmasrﬁéwq%?t
wwmmmaﬁw&ﬁamﬁ%w 29.

(b) ﬁazaﬁuL/

R U......... TERE 30.

(c) oy 7T (d) Imfois -

1w wﬁmmﬂﬁmﬁa&tw ﬁmmﬁaﬂr 31.

S -
(a) AME R 3nfg

| TwoEs

m Best E-learning Platform , B

21, B IS M.........SEe 2 21,

- (a) Food

ﬁmméﬁ'ﬂamwwwmmﬁ 28.
’ -body temperature:

. (c) forced _
A natural eco-system may be regarded as:

Periodic sheddmg of skin is:.

(a) Dyad (b) Ecdysis

(c) Cyst . (d) Flatus

A stlmulus that triggers innate behawours is
called a:

(a) Instinct (b)lReleaser

(c) Morphant (d) Signal

The daily cycle of activity that occurs over a 24 -

hour period of time is called a:

(a) Taxis behaviour (b) Circadian rhythm

(c) Kinesis behaviour (d) Periodic Taxis |

Most behaviours occur in response to what kind

“of stimuli:

(a) Secondary and internal

" (b)-External and internal-

(c) Varied and external

(d) Isolated and internal

Hunger and thirst are two examples of:

(a) Behavioural stimuli

(b) Social stimuli

(c) Classical eonditioning” -

(d) Parental conditioning = - -

Animals movefrom a less desirable locationto a

- “more desirable location by means of:- -

“(b) Kinesis and taxis’
(d) Circadian rhythm

(@) Courtship displays
(c) Biological clocks
Animals compete for;
| (b) Mates

(c) Teiritory (d) All of the above

What type of animals mamtam a nearconstant
(a) Ectothermic - (b) Endothermic .
(c) Neither P
(d) No animal in this type '

The behaviour of some anlmals to attract other

~ animals:

(a) Courtship -
(c) Showing off

~ (b) Dating .
(d) Hibernation

.Migration is.......... behawour

(a) innate (b) acquwed

(d) social -

S0 / L
(a) dependant on man
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(d) ﬁ&%ﬁaﬁ R 3

32. 7 & % 3 PR ot a1 e - 32.
e faay (b) e
~ (c) wgust - (d) AR

33, QT S B ST AT 2 33.
(a) IURHI I FueRaTTHT Sa
(b NG B UeANTHT
L()c),/:gwmmﬁm
(d) Erafeis & gueaiT

34 wsﬁﬁmﬁwﬁvﬁﬁm%‘- 34.
(a) RN & IS \
(b) et & I
¢ (©) ¥ & IARH
(d) =i & IUTH

35. ﬁmv@uﬂmmmwmwaﬁ%— 35.

 (a) Y@ () wER
7 1o (d) sTaRRier
36. “Hevis Rued” & 590 - 36.

ng oh animals and plants
(c) self competent
(d) dependant on microbes
Identify inert particles from the given list:
(a) Viruses (b) Bacteria
(c) Autotrophs (d) Veligar
‘Food Web' may be regarded as:
(a) Interlocking of Producers
(b) Interlocking of Food chains
(c) 'Individual Food chain
(d) Interlinking of Food link
Phytoplanktons are:
(a) Producers of Desert
(b) Consumers of Lake
(c) Producers of Sea
(d) Decomposers of Forest

_Following may not be found at National Highway

- No. 01: '
(a) Algae : (b) Fungi
(c) Lichen (d) Hyacinth
Father of “Conditioned Reflex" is:
(a) Paul Berg | (b) lvan Pvalov

(a) UfcT &t - Ly sam uraea
. e (d) R
37. Mmﬁaw&wmaﬁmﬁﬁmwﬁ 37.
ghscikicis-o
(a) Tafery Loy Sarery
(o) Wefams (d) R |
38. iaﬁqﬁ'ﬂaqammﬁmﬁaﬁa’raﬁﬁwmﬁﬁw 38.

39. “g" e il @ aarst el &- 39.
(a) Jec], Hod T TR -
(b) 39 a1 BER (_—
(c) quesT a1 &
(d) @t (b) AT (c)
40. ﬂamaﬁaﬁwlm- 40.
| SqTeT, 3T
(b) WK, R 3R feran
(c) IR fera, Hfea!, = SHeivs
(d) 3T, HRd, = SHeIos
41. qatagor ¥ O, T COZ &I Hfeem.......... G| S 4,

{
Va)/zg.gs% T 0.04%

(c) Robert Koch (d) Garrod
Animals devouring its own species is called as:

(@) Omnivores (b) Cannibolus
(c) Predacious (d) Sanguivores
Blood sucking animals are regarded as:

(a) Omnivores (b) Cannibolus
(c) Predacious (d). Sanguivores
“Co0" is the sound of following:

(a) Owils, Frog and Pigeons

(b) Doves and Pigeons

(c) Puples and Doves

(d) Only (b) and (c)

Rhinoceros is distributed in:

(a) Philippines, Nepal, Africa -

(b) India, Mexico, Australia

(c) Australia, Mexico, New Zealand
(d) Africa, India, New Zealand

The percentage of O, and CO; in th
atmosphere is......... and.......

(") 0
(a) 20 95/°c?rnéjaor% c/)pper in
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43.

45.

46.

47.

48

49, Hax
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(b) 20.95% T 0.004%
(c) 20.0% IT 0.40%
(d) 20.0% TAT 0.44%

Samis W (STeR=0) & IR gee o= el 42,

& Sfa (TafRYia gedt & why) smek L
it 21

(a) Te< faoT Tt = SFivean sneR

(c) Tt faraRo ot 3 ST STeR

(d) Wt foraRor qe IeT SHEEN SER

Mﬁaﬁﬁ@ﬁuﬁ%ﬁmaﬁﬁﬁm 43,

(a) BBFRHT
(c) TTIHETSIT

(b) 3T L
(d) vifca aRer

T8 Wil I SeT 3ild oyl SR @ L 44,

HEcr 2l
(a) = (b) efse

(d) sTH

'wmﬁﬁmﬁﬁumaﬁaaﬁagmwm 45,

TR @I JET HH (P/R<1) drar 21

(a) fofes &3
(c) sFors &7

(b) SseT e —
(d) eT$seT &

fieg @1 faomeaw URRORE @9, 21 . 48,

(c) ST (d) UI-& Hem

frmereiier 3of & Wi @1 7o R oI 47.

(@ 5@ .

- (b) arg
(c) |k Faf

(d) Sharew el

. éa@r&arammmsr ...... qur...... Hglaax 48,

W B |
() Tt ey qur A ax L—
(b) ST T e wiarefy wreapy

' (C)@ﬂmrﬁ?taamwﬁqmwn

(d) T ez qor YRS S

(a) coB

(b) COD
() BoD L—"
LT T o

(d) POD

%ﬁf—l&arnmg Platform

~(b) 20.95% and 0.004%

HQHOT &R BT HIG, ... & gRI fsay ST apar &l 49.

(c) 20.0% and 0.40%

(d) 20.0% and 0.44%

According to Shelford's Law of Tolerance an
organism with wide tolerance unit for
environmental factor usually show:

(a) Wide distribution with low population size :
(b) Wide distribution with high population size
(c) Narrow distribution with low population size
(d) Narrow distribution with high population -
size

Any feature of an organism or its part which
enable it to exist under conditions of its habitat is
known as: ,

(a) Adjustment (b) Adaptation

(c) Acclimatization ~ (d) Adaptive variation ..
The natural place where the organism or
communities live is known as:

(a) Niche ~ (b) Habit

(c) Habitat (d) Biome

In a pond ecosystem, the bottom area where the
production is lesser than the respiration (P/R<1)
is termed as:

(a) Limneticzone  (b) Profundal zone

(c) Benthic zone (d) Tidal zone

The largest ecosystem in the world are..........
(a) Great Lakes (b) Oceans

(c) Forests (d) Grasslands

Select the non-renewable source of energy:.
(@) Water (b) Wind

(c) Solar energy (d) Fossil fuel

Bacteria and virus can replicate in........ and
........ respectively.

(a) Culture media and Living System

(b) Living System and Culture media

(c) Agarose gel and Culture media

(d) Culture media and Agarose gel

Sewage pollution level can be measured by

(a) COB (b) COD
(c) BOD (d) POD
Bacteriophage is an example of.......... attacking

(a) Bacteria, Ascaris (b) Virus, Bacteria
{d) Bacteria, Virus

(¢) Virus, Parasite

|
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53.
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() I Rt (b) Yv e Rifor|_—
(c),ﬁﬁ:wai‘rsr:?r + (d) IR H N B T
BRI § B e @l . 52

(@) arT—"" (b) A

©fRF © (d) Premger s we

R &1 i &1 SR B 2- 53.
- (a) BB =me: (b) WNYeT B Gl

L/cermamaaa\m (d) TRA ST 3T AT

54. a1 SO, wgwwT & e qus &- . Ba
(@) §EAwRT  (b) REwEe

(d) Starer |

55. 37 BOD HH RS 74Y......... g 8l 55.

56.
57.
58.

59.

60.

L@ gt (b) o .

61.

_ T (b) 3t A
(c) IS ITRSH  (d) IR A I P &

TR & ... A dargl 56,
@ ERGETR  (b) A

(c) bl @ SRadt—_
5T UgEVL......... . BERISAE- - - . . 57,
(@) da oA a7 (b)) IR bl - -

() IR e (d) IR vy —
.ﬁaﬁﬁﬁumﬁmﬁﬁqm%mmm%— 58

(a) ST gRT - (b) ICIGITST -
(c) dvefsfeimerr  (d) (b) @aT (c)zﬂ=ﬁ A\
= o ¥ PR Ifde faues drg sdHEsR7aaNS 59,

da &?
(a) ©Re®d (b) a1
() Wrase (d) Fe/RAS

e # SFaTet qor e & Hed ot R @ e 60.
rar &2

(c) BR=feroH +(d) SETPIBITRYF
alqassaémﬁmﬁmaaama‘r ....... @el 61.
T 21 : '

© (a) RoeT amdar (b)%éﬁasaﬁm

A ley Prer amkar (d) ot 3k -

62

"ot ‘quT SRRe A & dh R are famr @ 62

o AT @ RTEd A Y, L Eb?ﬁﬁf%’l

(a) HTRIR (b) fereirenstey
LierEmrents (d)sf??rw‘mﬁv

. (a) Symbiosis.  (b) Parasitism ]

" low temperature for their growth are called:
" (a) Megatherms (b) Mesotherms

Ozone is formed in upper atmosphere by a
photochemical reaction with:
(a) Infra Red Radiation (b) UV solar radiation

(c) Visible light (d) None of the above
‘Minamita disease was caused by pollution of
water by: | '

(a) Mercury ~ (b) Lead

(©) Tin " " (d) Methyl Iso Cyanate
Heavy dust can cause:

(a) Leaf blights .(b) Opening of stomata

(c) Closure of stomata (d) Browning of leaves
Which of the following is the best indicator of.
SO, pollution: :

(a) Bryophyte (b) Pteridophyte

(c) Lichen - (d) Algae

A river with high BOD value is:

(a) Highly polluted  (b) Highly clean

(c) Highly productive (d) None of the above
Chlorofludro carbons are used in:

(a) Air conditioners  (b) Perfumes

(o) Refrigerators (d) All of the above
‘Water pollutlon is caused by:

(a) Qir Ret"nerje_s - (b). Paper.Factones

(c) Sugar Mills . (d) All of the above
Biomedical waste may be disposed by:
(a) Incineration . (b) Autoclaving

(c) Land filling (d) Both (b) and (c)

Which of the following is a biodegradable |
organic/chemical substance?
(3) Plastics* ~ (b) Oils
(c) Pestcides’  (d) Garbage

The relation between algae and fungi in lichen
is: ‘ ' .

(c) Commensalism . (d) Protocooperation
The water vapour present in the unit volume of
air is called:

(a) Relative humidity (b) Static humldlty
(c) Absolute humidity (d) Total humidity
The plant-of cold or temperate habitat require:

(c) Microtherms (d) Ekistotherms

1
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53 ﬁﬁmmwﬁmﬁzﬂﬁlﬁam 63.

(@) %\n‘nm T %%mm
(d) 2RISR T AHwRTH

64. MAB @1 ai@d........ ‘I &l 64.

(b) 9T, PRIETAIRRS T dRIRAT
(c) a1 AP FRIHE
(d) AR, vUEHA U1 f§_

65. a?@&ﬁﬁ%ﬁ%ﬁﬁﬁhﬂ%ﬁiéﬁrﬁwamaﬁm 65

3T U Xl 8-

L Aa)y Tentice (o) R |
(c) Rsfein (d) IR # F i T

ss.wqﬁﬁmﬁaﬁa-—q’éswmﬁvﬁass.

(©) a‘aaﬁm

67. gItbe W @ FAT........ %‘mr‘?miél' 67.

(@) o dly - (b) S R
el N Bty ¢
Aty sizaen & 3 Sa

88 RN, & se A 81 68.

(a) B TN B SPHienon Bl

(b) B TR & SPES B -
L(e)’«garaa?réaﬁms?ra%r
;- - (d) IRET A F B Al
. 69, %wwsﬁémﬁmﬁmaﬁﬁawﬁaﬁ
S O $el AT 8-
_{eyad wHe (b)w?fm%fr
- (c) P BT (d) B1E Fe-fie

(22

70, e R ¢ wPm iR B i d 70,

(a)srﬁ!asmﬁmﬁmmm
(b) Iy W=
'(c)mﬁﬁra%ﬁmm#sﬁﬁam

9.

Plants which grow under direct sunlight and

those growing

under shade are called as..........

and ........... respectively.

.(a) Heliophytes and Sciophytes
(b) Sciophytes
_-(c) Psamophytes and Heliophytes

and Heliophytes

(d) Heliophytes and Psamophytes

MAB stands fo

" (a) Man and bi
. (b) Man, antibiotics and bacteria
" (c) Man and bi

' '('d)' Mayer, Anderson and Bisby

r:
osphere

otic community

Species that occur in different geographical
regions separated by special barrier are:

(a) Allopatric.

(c) Sibling

(b) Sympatric
(d) None of the above

In a food chain of grassland ecosystem the top
consumers are:
(a) Herbivorous (b) Carnivorous

(c) Bacteria

(d) Either Carnivorous or Herbivorous
Trophic levels are formed by:

(a) Only plants
(c) Only carniv
(d) Organisms

(b) Only animals
orous
linked in food chain

Synecology deals with:

‘() Ecology of

(b) Ecology of
(c) Ecology of

many species

many populations

community

(d) None of the above

The amount of

organic matter present at a given

time per unit area is called:

(a) Standing crop  (b) Standing quality-

(c) Carbon content (d) Carbon foot print
Which of the following is not a characterlstlc of'r
selected species?

(a) Produce large number of progenies

(b) Reproduce

quickly

(c) Low survival rate of progenies
(d) Parental Care
The inherited behaviour is called as:

(a) imprinting
(c) learning

(b) maturation.
(d) instinct

dreamtopperin



Dream toppon

2 OGN 2( g%st E- Ie.arhmg Pla
2. TNAOR

P DET ST B-
(a) 3T
ey AEadHRoT

(b) e

tform
R 72.

73 ﬁwﬁa}aamﬁwmm[mmmzm 73.

Pl 8-

(a) 3eITaTE @ 3TEd
L/WW

(c) TeTFHH gREIvT

(d) Uege Isifaea

74. ... TS IS v THH WSilid § THRIa: 74,

TG AR &I WA AT S 81
L3 WRE= (b) g =1
(c), ERRART (d) fEm=

75. ..., TG TGER WISTHT, YSaT=HT1 a7 WIS Tavl 75

&A1 Bl &

(a) BIRIET by BRI
(c) SsrHT (d) sl

76. e TR gRT iR 39 ke vafaer 76,

H TAER @1 95~ 3T g B

(a) BRI L_topzadetsi

(c) gaitas (d) gty )
77. "MER T S97 9 B N saia @ -

(@) 399 oy
(c) =

(b) SOz
(d) SO.

t 42y CO
(c) CO2

(a) ®H (b) 5%
(d) i

80. “Hic! WRH" FHd I H BRP -

47905

(d) CO

(a) SO2
() SO4

(a) DNA (b) RNA L
(c) RNAGUTDNA  (d) Wi
. B % ¥ DNA arre &1 9o aR-

%ﬂﬁaﬂmﬂ (b)ma@amw
(c) TrmaraRY (d) eRIERY

(d) IR 7 X B 7
78. T B IS S I P i s A -

78.

79.

80.

81.

82.

. (a) Instinct

" (c) Hypermones
teiirend isa beha\/iour involved with searching for

-(c). Preframing

.(c) Eugenics

- (a) Ethane

" (c) Mist
-Which of the following leads to disease called

o e

The decrease in response to repeated on -
continuous stimulation is called:

(b) Maturation~

(¢) Habituation (d) Insight -

The site defend by territorial animal by agonistic
behaviour is:

(a) Agnostic Tendency

(b) Territory Behaviour

" (c) Hierarchy Approach
" (d) Altruism objective

Y are chemical signals common!y used to
communicate within same species.

(a) Pheromones - (b) Hormones

(d) Chemomones

recognizing, catching and consuming food.

(a) Foraming (b) Foraging

(¢) Instinct

......... ..is the "scientific study of how animals
behave particularly in their natural environment.
(a) Foraging (b) Ethology

(d) Euthenics

“Gobar Gas” plant produces following:

(b) Methane

(d) None of the above

Which. gas is mainly produced due to
incomplete burning of wood?
(@) CO (b) SO,
(c) CO, (d) SO
Which of the following is a liquid form, of
aerosol?-
(a) Fume

(c) Propane

(b) Dust
(d) Smoke

‘broncho spasm'?

~(a) SO, (b) SO,
(c) SO4 (d) CO,
Rhabdovirus.......genetic material.
(@ DNA- (b) RNA
(c) RNA and DNA (d) Protein

Select the DNA virus from the below rhentioned

list:

(a) Varicella herpes (b) Paramyxovirus

(c) Togavirus (d) Enterovirus
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ﬁ::r ¥ Ryanereaw aroRE & ﬂé&ﬂﬂt E-learningf 14{f2F54 st virus from the given:

83
IR aRRE  (b) difdrer areRw
© R amE  (d) &S TR
g4. TERIAEN & D B TG IR~
(a) van Pavlov (b) WM. Stanley {
(c) M.K. Parks (d) J.F. Dent%
85. 1 JRE........ & W § FHAT S €
(a) wrar R "]
(b) fowg vy feaw
(c) = Rew
(d) [Iwg AIDS feaw
g86. “fizg wRw fRaw” ......... &l
() 10 A& ) 21 7 L_—
(c) 10 38t (d) 21 38T
87. TARIEAIDIN B PRS.......5
(a) Parasite (b) Fungi L_—7
(¢) Virus (d) Bacteria
88. "PERISRN & HRS Toic B T TR—
(a) Fungi (b) Parasite
(c) Virus (d) Bacteria
89. “IFIET A AT I BRS B T TR-
(a) Fungi (b) Viral &
" (c) Bacteria (d) Parasite -
90. TRAW........H T W &l
(a) T IMRAH A
(b) TE B TRE H\—
(c) TR oY e H &
(d) TR |aE W &
91. ‘AR & W FAINRG......... ¥ Rera 21
(a) FHlcd (b) To FME
(c) afiermg L7 (d) ToR
92. “Eugenics” & fia1 & 9 & Taq oY-
(a) g & A (b) Wi ee (__—
(©) ey fofgm (d) IR GRS
93, TG WA b’ R &- .
(_Aay379H vd FoeR giRmE A
(b) df¥rerTg
(c) axa | (d) Them #
94, I3 <l o INART STHRI DI el el e~
\ (@) FReERae (b) Tifaa
(c) WrRaa (d) IRaRaa
95. TRERE' & HRS Toic BN Id DY~
@ R (o) a7
() Rerdred (d) AR

84.

85.

86.

87.

88.

- 89.

90.

91.

a2

93.

- (a) Clostridium

(a) Parrot fever virus (b) Paramyxo virus
(c) Varicella virus *  (d) Rhabdo virus
Father of Virology is:

‘(@) lvan Pavlov (b) WM Stanley -
(c) M.K. Parks (d) J.F. Dent

1%t Oct. is celebrated as:

(a) Blood Donation Day

(b) World Animal Day

(c) Kisan Diwas

(d) World AIDS day

World Forest Day is celebrated on:
(a) 10" March (b) 21% March
(c) 10" April (d) 21% April
Aphlatoxicosis is caused by:

(a) Parasite (b) Fungi

(c) Virus (d) Bacteria
Causative agent for coccidiasis is:

(a) Fungi (b) Parasite

(c) Virus (d) Bacteria

The causative agent for Ranikhet disease:
(a) Fungi (b) Viral

(c) Bacteria (d) Parasite -
Bathyal are: ,

(@) Found in deep desert

(b) Found in deep sea

(c) Absent in deep sea

(d) Absent in peak of sea

‘Gulf of Mannar’ Biosphere is located in:

(a) Karnataka (b) West Bengal

(c) Tamilnadu (d) Gujrat

Select the father of “Eugenics”:

(a) Hugo de Vries  (b) Francis Galton

(c) Carolus Linnaeus (d) Father Saurez
‘Marine National Park’ is located in:

(@) Andaman and Nicobar Island

(b) Tamilnadu

(c) Kerala (d) Goa

Animals adapted for fast running is called as:
(a) Cursorial (b) Amphibious

(c) Scangonial . - (d) Arboreal
Causative agent for Typhoid is:

(b) Salmonella

(c) Streptococcus - (d) Yersinia
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96. TNl & BRS TIC I T TR-

- (o) TRREW (b) TTERMET

©) ReDHT (d) ARFrre—"
T B BRS Tole B T aR-

(a) FERGRTAL—7 (1) WrerRen

(c) aRyem (d) TR

97.

m Dracum toppon

96. Select the causative agent for “plague”:

97.

(98) ¥ &y vt arcafies onf @ HSIR AR 98,

T fa S @, @ Jaresor &-
 (a) e, ST, TRwREs
(b) DPT, Trgwrss, wicra

(c) BICRT, DPT, TGRS

(d) S, BieRT, N

99. 9 Wig uRkor § GeTe) et o1 @ ST &- 99

(a) Clostridium (b) Salmonella P
(c) Streptococcus  (d) Yersinia 5
Select the causative agent for “Tetanus:

(a) Clostridium (b) Salmonella

(c) Varicella (d) Neisseria

An example of Live vaccine contalnlng actu
weakened germs: : '

(a) Rubella, Rubeolla, Typhoid

(b) DPT, Typhoid, Polio

(c) Cholera, DPT, Typhoid

(d) Rubella, Cholera, Polio

Test for blood group antibodies is regarded a

RI&T ~(b) ELISA (a) Coomb's Test  (b) ELISA
(c) 3T WG (d) FIGLU TRyeyor (c) Amine Test (d) FIGLU Test
100. SR (1627-1705) 7 & v ¥ fawear &- 100. John Ray (1627-1705) is known for:
(a 5 & ITUROT (a) Concept of Species
(b) FBITISH & 3T (b) Father of Ecology
() gesiiaat & Sivics (c) Father of Microbiology
(d) foufesm & sr@emon (d) Concept of Toxicology
| ‘ Ahswersheet
1. 2. @ | 4 | i ' - —3
@) @13 @4 @[5 (b6 |@]|7|@]|s. () ; 9. | (@ [10.] (@)
M.1) [12. ] (©) |43. | (b) [14. [ (d) | 15. | (b) | 16. | (c) | 17. (@ | 18. | @) | 19. | 3 | 20.| @)
21. | (b) 122. | (d) | 23. | (b) | 24. | (b) | 25. | (a) | 26. (b) | 27. | (d) | 28. | b) | 29. | (a) | 30 (aH.
31. | (o) | 32. 33. . : ; :
. (@) (b) 1 34. | () {35.| () | 36. | (b) | 37. | (b) | 38. | (3) | 39. | (b) | 40. | (o).
51. 1 () | 52. | (a) | 53. | (c) | 4. | (c) | 55. | (a) | 56. (d) | 57. | (d) | 58. | (d .
61. | (©) |62 | (¢) | 63 , 0 59, L @) | 60. | (@
;! ©)163. (@) |64. | (a) | 65. | (a) | 66. | (b) | 67. @) | 68 |
M. @ |72 ] (@ |73 P T e e e B
: (b) | 74. | (a) | 75. | (b) | 76. | () | 77. (b) | 78.
st o) |82 @ | e - : i1 (@ [ 79. | (c) | 80. | (b).
[oq -1 (3) | 84. | (b) | 85. | (a) | 86. | (b) | 87.] (b) | g8, ® | 89. | () | 90. | &)
: 92. | () | 93. | ¢ ‘ ' 2
(© (b) [ 93. | (a) 94. | (a) | 95. ] (b) | 96. | (d) | 97. | (a) | us. (x) | 99. (a)

X = Question Cancelled

(a) | 100.
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